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Question Number : 1 Question Id : 284703625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The term ‘Line Print Terminal® is related to:
Options:

, % serial port

-~ % centronics port

5  Darallel port

4 8 USB port

Question Number : 1 Question Id : 284703625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 284703626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which protocol controls the transmission of data over a network?

Options:
| % SMTP
5 « TCP

z ® P

4 % ICMP

Question Number : 2 Question Id : 284703626 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % SMTP
> o TCP
z ® IP

4 % ICMP

Question Number : 3 Question Id : 284703627 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following allows you to select more than one slide in a presentation?

Options:
Alt + click each slide

®

i,

> % Shift + drag each slide

% « Shift + click each slide

5

Tab + click each slide

o
®

Question Number : 3 Question Id : 284703627 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 284703628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Superscript, Subscript. Engrave, Emboss and Outline are known as in Microsoft Word.

Options:

, w fontstyles



> « font effects
= % word art

4 % texteffects

Question Number : 4 Question Id : 284703628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 5 Question Id : 284703629 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What could cause a fixed disk error?
Options:

1 % No CD installed

> % Bad RAM

- % Slow processor

4 « Incorrect CMOS settings

Question Number : 5 Question Id : 284703629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 284703630 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following top-level domains represents a non-profit organisation?

Options:
1 # .Com

2 % 8OV

5 o OI

4 % .edu

Question Number : 6 Question Id : 284703630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
1 % .com

o % -gov
2 & -Org

4 % .edu

Question Number : 7 Question Id : 284703631 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the name of the list that stores the URLs of web pages and links visited in the past?

Options:
1 % Link list

» # Page list

-  History



4 % Bookmark

Question Number : 7 Question Id : 284703631 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 284703632 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Compared with secondary storage. primary storage is
Options:

; w slow and inexpensive

> u fastand inexpensive

-  fastand expensive

4 # slow and expensive

Question Number : 8 Question Id : 284703632 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 284703633 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the first window that comes up when the computer comes to a rest after being booted?

Options:
1 ® TV screen

> % Blank
5  Desktop

4 % Icons

Question Number : 9 Question Id : 284703633 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 10 Question Id : 284703634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A(n) appears when you right-click on an object.
Options:

1 % address bar

> « shortcut menu
5 % scroll bar

4 % helpmenu

Question Number : 10 Question Id : 284703634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 284703635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following key combinations in Microsoft Excel is used to select a table column data?

Options:

1 ® Ctul+C

> w Ctrl+ Arrow key
o 8 Chi+38

4 « Ctil = Spacebar

Question Number : 11 Question Id : 284703635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1 ® Ctrl

.I_

C

-, % Ctrl + Arrow key

+

2 % Ctrl + S

4  Ctrl + Spacebar

Question Number : 12 Question Id : 284703636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of following provides reliable communication?

Options:



i « TCP
> B P
3 % UDP

4 % ICMP

Question Number : 12 Question Id : 284703636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1« TCP

- ® IP
- « UDP

. % ICMP

Question Number : 13 Question Id : 284703637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A byte comprises:

Options:
1 % 4bits

> o 8 Dits
=z % 16 bits

4 ® 32 bits

Question Number : 13 Question Id : 284703637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T 1S H TR &
Options:

% 4 fecwm

zlgsﬁw



. 16 foem

. 32 ew

4 %

Question Number : 14 Question Id : 284703638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which key is used to turn on caret browsing in Internet Explorer?

Options:
1 o F7

A F8
z ® Fo6

EE Fo

Question Number : 14 Question Id : 284703638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 284703639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A is an input device that helps an OS take inputs from a user.
Options:

1 # monitor

> % projector

5 w printer

4  keyboard



Question Number : 15 Question Id : 284703639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 284703640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is a PowerPoint presentation?

Options:
, w Itisacollection of images.

> « It is a series of slides.
= # Itis acollection of animations.

4 % Itis acollection of transitions.

Question Number : 16 Question Id : 284703640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 284703641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Which of the following key combinations is used to open the Print dialog box in Microsoft Word?

Options:

1 % Ctrl+V
> o Clrl+P
o R Alt+P

4 ® Cl+Alt+P

Question Number : 17 Question Id : 284703641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

L% Ctrl + V
» » Ctrl + P
2% At + P

. % Ctrl + Alt + P

Question Number : 18 Question Id : 284703642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following statements about search engines is true?

Options:

, w Search engines discriminate between good and bad sites.

> % Search engines have fixed hours when we can use them.

- » Search engines are a waste of time. as they do not provide relevant information.

4 Search engines are programs designed to search information on Internet using keywords.

Question Number : 18 Question Id : 284703642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 284703643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
port is a special type of serial port for connecting musical instruments like an electronic keyboard

to a sound card.
Options:
, w Accelerate Graphics

> « MIDI

5 » Analog Interphase

4 % MDIK

Question Number : 19 Question Id : 284703643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 20 Question Id : 284703644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which of the following networks are all computers considered equal and do NOT share any central authority?

Options:



1 Peer-to-peer

> % Client/server

5 » Centralised computing

4 % Dedicated server

Question Number : 20 Question Id : 284703644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 21 Question Id : 284703645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of these is NOT a form of biometrics?
Options:

1 % Retina scan

-~ u Finger print

= % DBreath scan

4 « Password

Question Number : 21 Question Id : 284703645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 284703646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

VGA stand for:

Options:

| « Video Graphics Array

-~ % Visual Graphics Array

- % volatile Graphic Array

4 = volatile Graphics Adapter

Question Number : 22 Question Id : 284703646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 284703647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the permanent memory built into your computer called?

Options:
1 % RAM

5 « ROM



s % CPU

4 % CD-ROM

Question Number : 23 Question Id : 284703647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 284703648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
IP multicast groups are managed by:

Options:
| % SMTP
5 % ICMP

s « IGMP

4 % BGP

Question Number : 24 Question Id : 284703648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % SMTP
. % ICMP
- v IGMP

, = BGP



Question Number : 25 Question Id : 284703649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is used to send the data of one computer to a computer located far off?

Options:
1 ® Telex

> « Modem
= % Fax

4 w Telegraph

Question Number : 25 Question Id : 284703649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 284703650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A menu in a document that contains a list of

Options:
1 « commands
> % data

5 % Objects

4 % reports

Question Number : 26 Question Id : 284703650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 284703651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The process of arranging data in a logical sequence is called
Options:

; w summarising

o o Sorting

5 u classifying

4 % reproducing

Question Number : 27 Question Id : 284703651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 284703652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Main memory stores:



Options:
, w only data

> % only program
3 o data. program and results or any other kind of information

4 % only the results of programs

Question Number : 28 Question Id : 284703652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 29 Question Id : 284703653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In an Excel formula. which symbol specifies the fixed columns or rows?

Options:
1.4 3

W
®
=2
(=1

sn @

Question Number : 29 Question Id : 284703653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 30 Question Id : 284703654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
One can create multiple tabs, called . within a Microsoft Excel 2010 workbook.

Options:
, % Dpivots

> « Wworksheets
5 #% charts

4 % tables

Question Number : 30 Question Id : 284703654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 31 Question Id : 284703655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following options can be used to rearrange icons on the desktop of a computer?

Options:
, w» Double clicking

- u Highlighting



5  Dragging

4 w Pointing

Question Number : 31 Question Id : 284703655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 284703656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following units is used to specify font size?

Options:
1 Points (pt)

> % Pixels
3 # Picas

4 % Millimetre

Question Number : 32 Question Id : 284703656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 284703657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Dangerous programs that can be contracted in a variety of ways. including opening e-mail attachments and

downloading software from the Internet, are called:

Options:
, % apps

> % Spam
5 % utilities

4 « Viruses

Question Number : 33 Question Id : 284703657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 284703658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Which of the following device is used to enter data by a keystroke to a computer?

Options:
1 #% DMouse

5 o Keyboard

5 » Floppy disk



4 % Scanner

Question Number : 34 Question Id : 284703658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 284703659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Payroll system is a typical example of:

Options:

| « Datch processing

-~ % On-line processing

5 % real-time processing

4 % Tuntime processing

Question Number : 35 Question Id : 284703659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 284703660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
All of the following are file compression programs, except:

Options:
| % WinZip

> « RAID
5 % PKZIP

4 % WinRAR

Question Number : 36 Question Id : 284703660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. = WinZip
> « RAID
z & PKZIP

. * WinRAR

Question Number : 37 Question Id : 284703661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
To change the selected text to all capital letters. click the change case button. and then click:

Options:
1 uppercase

> % upperall

- % caps lock

4 # lockupper

Question Number : 37 Question Id : 284703661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:

| « uppercase

- % upper all

5 » caps lock

4 w lock upper

Question Number : 38 Question Id : 284703662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A device for changing the connection on a connector to a different configuration is known as

Options:
1 % aconverter

- % acomponent

= % an attachment

4 « anadapter

Question Number : 38 Question Id : 284703662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 39 Question Id : 284703663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
File extensions are used in order to



Options:
1 % name the file

> % delete the file
= # rename the file

4 « ldentify the file type

Question Number : 39 Question Id : 284703663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 40 Question Id : 284703664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Software programs that close potential security breaches in an operating system are knownas
Options:

; w software upgrades

- u refresh patches

-  Security patches

4 % security repair

Question Number : 40 Question Id : 284703664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 41 Question Id : 284703665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the possible cause of error for the system time date not being set?

Options:
, « CMOS battery error

- % Operating system error

= % RAM error

4 % ROM error

Question Number : 41 Question Id : 284703665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 42 Question Id : 284703666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IEEE stands for:

Options:

, w Institute of Electronics and Element Engineering

- » Institute of Electronics and Electrical Engineers



5 o Institute of Electrical and Electronics Engineering

, » Institute of Element and Electrical Engineering

Question Number : 42 Question Id : 284703666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 43 Question Id : 284703667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Windows 10, if guest or public network is selected, then the is turned off.

Options:
, = Dath discovery option

-  network discovery option

5 » group discovery option

4 » domain discovery option

Question Number : 43 Question Id : 284703667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 44 Question Id : 284703668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
are used to generate keys for cryptographic operations.

Options:

1 Cryptographic modules

» » [Irusted key modules
5 » Trusted platform modules

4 % Trusted encrypted modules

Question Number : 44 Question Id : 284703668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 45 Question Id : 284703669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which file format is used to save multimedia files for wireless networks?
Options:



Question Number : 45 Question Id : 284703669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

;v 39p

5 % MWwWn

5 % ogm2

4 % Ogp2

Question Number : 46 Question Id : 284703670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the key combination for column break in multi-columnar texts in OpenOffice Writer?
Options:

1 % Alt+ Enter

E

> « Cirl + Shift + Enter

o,

% % Shift + Enter

4 % Ctrl + Enter

Question Number : 46 Question Id : 284703670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HAHTEH T H Aeel-PlaAAL e H FIAH e F [0 JET H FASS F7 872

Options:
1 # Alt + Enter

s o Citrl + Shift + Enter
= % Shift + Enter

4 % Citrl + Enter

Question Number : 47 Question Id : 284703671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
In Microsoft Excel. a chart that is drawn on the same worksheet as the data is known as a/an:

Options:
1 « embedded chart

- #% chart wizard
% % chart sheet

4 w merged cell

Question Number : 47 Question Id : 284703671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 48 Question Id : 284703672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following refers to the function of justify button in Microsoft Word?

Options:
, w Todisplay a drop-down list of justification options

-  To align the text to both left and right margins

- % To open the justification dialog box

4 % To centre the current line

Question Number : 48 Question Id : 284703672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 49 Question Id : 284703673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A document can be zoomed up to a maximum of:

Options:
1 ® 100%

> % 150%
s % 200%

4 « 500%

Question Number : 49 Question Id : 284703673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

, = 100%
- % 150%
- % 200%

.« 500%

Question Number : 50 Question Id : 284703674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following key combinations can be used to go to the next bookmark?

Options:
1 ®# Cul+ W

~ % Enter



z o Cil+G

4 R Alt+F

Question Number : 50 Question Id : 284703674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

L% Ctrl + W

> % Enter
2 o Gl + G

L% Alt +F

Question Number : 51 Question Id : 284703675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which shortcut key is used to insert endnotes in a document?

Options:
1 ® Alt+C
> ® Cirl +shift+ D

3 o Alt+Ctl+D

EE Alt+D

Question Number : 51 Question Id : 284703675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ueh Ean-tg\afi-: H U=AIE =70 & [T Sl dr oicae éwﬂ T 93T T Frar 27

Options:

, % Alt + C
, % Ctrl + shift + D
2« Alt + Ctrl + D

L% At +D



Question Number : 52 Question Id : 284703676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
network enables us to connect to Internet through a smartphone, tablet or other mobile devices.

Options:
1 #% Wired

» » Relay
5 o Cellular wireless

4 % Cell

Question Number : 52 Question Id : 284703676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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EEADING COMPFEEHEMNSION

Section Id : 28470358

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 1

Number of Questionsto be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 28470358

Question Shuffling Allowed : Yes



Question Id : 284703677 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension



Read the following passage and answer the questions
given below:

For many vears after we got our independence.
food production went on decreasing steadily. This was
mainly because of drought. floods and neglect of
agriculture during the first three Five-Year plan periods.
Population also increased at a high rate.

A great improvement was made in agriculture in
1967-68. It is popularly known as the ‘Green
Revolution’. The farmers now follow new methods of
farming. One such is the Japanese method of cultivation.
New high-yielding varieties of rice. wheat and other
grains have been developed in our research institutes.
These new strains need more water and more fertilizers
than the old ones. So. large irrigation facilities have been
made. New dams have been built and canals. dug. Pump-
sets have been erected by the farmers for irrigation.
Fertilizers are produced in factories in large quantities.
Tractors, harvesters. and threshers are also used. All this
has greatly increased food production in our country. We
no longer need to import food grain from foreign
countries.

But Green Revolution has its negative side. It
increased the pollution levels and degradation of land.
Due to change in land use pattern and employment of two
and three crop rotation every year, land quality has gone
down and yield has suffered. Use of heavy chemical
fertilizer resulted in land becoming hard and carbon
material has gone down. Due to heavy crop rotation
pattern. we do not give rest to land nor have we time to
employ a proper weed removal system., which has
increased weeds.

Another degradation 1s mindless use of pests. Pests
that we used to control by biodegradable methods have
become resistant to many pesticides and now these
chemical pesticides have become non-effective. The
greatest effect is the loss of biodiversity: due to heavy use
of chemical pesticides. insecticides and fertilizers. we

have lost many birds and friendly insects. and this is a big
loss in the long term.



Sub questions

Question Number : 53 Question Id : 284703678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What was the major reason for the Green Revolution?
Options:

|« Scarcity in food production

» % Droughts and floods

- u Scarcity of water

4 % Famine

Question Number : 54 Question Id : 284703679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is the immediate initiative of the
Green Revolution?

Options:

, = Development of irrigation systems

> % Production of fertilizers

- % Increase in the production of food grains

4  Development of high-yielding grains

Question Number : 55 Question Id : 284703680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Green Revolution resulted in:
Options:

» the mechanisation of agriculture

1
- % the development of water management systems

- » decreased food production

4 % increased use of water for non-agriculture.

Question Number : 56 Question Id : 284703681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

What was the impact of heavy use of pesticides?
Options:

, « Pests developed resistance.

-~ % Pests perished.

- » Pests perished along with other organisms.

4 % Pollution decreased.

Question Number : 57 Question Id : 284703682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Heavy crop rotation leads to:
Options:
complete engagement of land. which increases the
% production

- w heavy use of fertilizers
5 % water scarcity

4 « Do rest for the land, which also increases weeds

Question Id : 284703677 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 284703678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 54 Question Id : 284703679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 55 Question Id : 284703680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 56 Question Id : 284703681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 57 Question Id : 284703682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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COUANTITATIVE AFTITULE

Section Id : 28470359
Section Number : 3

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes
Group All Questions: No
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Sub-Section 1d: 28470359
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 284703683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that will come in place of question mark (?) in the following number series.

958 833 733 658 608 (7)

Options:
1 ® 577

> « 583

e
e
LM
|
Lad

Question Number : 58 Question Id : 284703683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

30 fTwea &1 99a A A Aeafof@a gew s@er 7 ged ®E (?) & Ta W AR

658 833 733 6568 BD8 (7)
Options:

| % 577
. « 583
2 % 567

. = 573

Question Number : 59 Question Id : 284703684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that should come in place of question mark (7) in the following number series.

15, 18, 16, 19,17, 20, ?
Options:
1 ® 23



T B 16

4.¢?13

Question Number : 59 Question Id : 284703684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

30 fTwea &1 99a W A Aeafof@a gew s@er 7 yeF BE (?) F Ta W HREE|

15, 18 16, 18 17 28, 2
Options:

1 ® 23
- & 22
o ® 16

4 v 18

Question Number : 60 Question Id : 284703685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Select the option that should come in place of question mark (7) in the following equation.

56.5% of 1220 — 26.2% of 1100 = (?)2 + 301.1

Options:

> % 200

= % V10

4« —10

Question Number : 60 Question Id : 284703685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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1220 T 56.5% - 1100 =pr1 26.2% = (?)? + 301.1

Options:



. % 200

3 % V10

4 v -10

Question Number : 61 Question Id : 284703686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A vessel confains a mixture of grape, pinsappls and banana juices in the respective ratio of 4 : 6 : 5, 15 lifres of this
mixture is taken out and 8 litres of grape juice and 2 litres of pineapple juice is added to the vessel. It the resultant
quantity of grape juice is 10 litres less than the resultant quantity of pineapple juice, what was the nitial quantity of
mixture in the vessel?
Options:
1 % 120 litres

> % 150 litres
5 % 105 litres

4 « 135 litres

Question Number : 61 Question Id : 284703686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

% 120 sieX
> % 150 @ex
- » 105 #fex
4 v 135 #eT

Question Number : 62 Question Id : 284703687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The product of three consecutive numbers is 4080. What is the least number?

Options:
1 ® 17

o> ® 14
= % 13

4. ¢ 15

Question Number : 62 Question Id : 284703687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

4 v 15

Question Number : 63 Question Id : 284703688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
By selling a shirt for ¥ 432, Rima loses 4%. For how much should she sell it to gain 6%?

Options:
1 ?4??

5 % TAT5
s % T466

4 % T462

Question Number : 63 Question Id : 284703688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:



@ T 477

- % T 475
s % T 466
4 % T 462
GEMERAL MENTAL ABILITY AND REASCRING
Section Id : 28470360
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 28470360
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 284703689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third word on the same basis as the second word is related to the first word.

Reading : Knowledge :: Work : ?
Options:
| « EXperience

> % Engagement

- » Employment

, % Experiment

Question Number : 64 Question Id : 284703689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 65 Question Id : 284703690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third word on the same basis as the second word is related to the first word.

Venerate : Worship : : Extol : ?

Options:
| « Glorify

5 % Homage

5 » Compliment

4 # Recommend

Question Number : 65 Question Id : 284703690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

3T RBFeT # T9 F S AN g § 3% 39 ORE TElUd ¢ AT TR I U TEe oG
T Fafaa B

HFATA © T3l T ; ?

Options:

1 & 7
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Question Number : 66 Question Id : 284703691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the alternative with the most appropriate description about these three words.

Aphids : Weevils : Locusts
Options:

,  These are plants pests.

-~ % These damage the wood.

= % These live inside the host.

4 # These cause diseases in cattle.

Question Number : 66 Question Id : 284703691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 67 Question Id : 284703692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the alternative with the most appropriate description about these three words.

Magenta : Fawn : Turquoise
Options:
, w They are marine creatures.



- % They are migratory birds.

- % They are precious and semi-precious stones.

s They are colours.

Question Number : 67 Question Id : 284703692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
Select the option that is related to the third number on the same basis as the second mumber is related o the first mumber.

G, 00016 - L0257
Options:

1+ 0.0102

> % 0.102

2 % 1.020

4 % 10.20
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0.18 : 0.0016 :: 1.02: 7
Options:

v 0.0102
, = 0.102
5 = 1.020

. = 10.20
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Correct: 1 Wrong: O
If vou write down all the numbers from 1 to 100, then how many times do you write 37

Options:
1 ® 11

- R 18
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Correct: 1 Wrong: 0
In India the Foreign Exchange Regulation Act (FERA) has been replaced by:

Options:
. « The Foreign Exchange Management Act (FEMA)

» w Federation of Environmental Trade Associations (FETA)

- » European Federation of Neurological Associations (EFNA)

4 w The Federal Employers Liability Act (FELA)
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Correct: 1 Wrong: 0
The Tagore Award for Cultural Harmony 2013 was awarded to:

Options:



1 « Zubin Mehta

4

- % Narendra Kohli
- % Shalini Singh

4 # Arvind Adiga
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Correct: 1 Wrong: 0

Which of the following chief ministers served for the longest tenure?
Options:

1 % LaluPrasad

-  Jyoti Basu

5  Mayawati

4 % M Karunanidhi
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Correct: 1 Wrong: 0
Who won the Silver Medal for the women’s 400 metre race in the Asian Athletic Championships 20137

Options:
1 % Tintu Luka

> % Mayookha Johny

% % Zhao Yanmin

4 + MR Poovamma
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Question Number : 74 Question Id : 284703699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The highest waterfall of India. Kunchikal Falls, is in the state of:

Options:
1 % Maharashtra

> « Karnataka



= % Andhra Pradesh

4 % Assam
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Correct: 1 Wrong: 0
Who of the following was the first Chairman of the Planning Commission of India?

Options:
1 #® AM. Khusro

E

N.K.P. Salve

ra
®

M.S. Ahluwalia

L
®

4 + Pandit Jawaharlal Nehru
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Wornens History Month is an annual declared month that is traditionally held in March, but the study of
woITens history is valuable all twelve months of the year. Women hawve overcorme daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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Question Number : 77 Question Id : 284703702 Question Type: TYPING TEST Display Question Number : Yes

Fangea, also spelled Pangaea, in early geclogic time, a supercontinent that incorporated almost all the
landmasses on Earth. Pangea was surrounded by a global ocean called Panthalassa, and it was fully
assermbled by the Early Perrmian Epoch, some 299 million to 2732 million years ago. The supercontinent begarn
to break apart about 200 million years ago, during the Early Jurassic Epoch, eventually forming the modern
continents and the Atlantic and Indian oceans. Pangeas existence was first proposaed in 1912 by Germarn
metecrologist Alfred Wegener as a part of his theory of continental drift. Its name is derived from the Greek
pangaia, meaning all the Earth. During the Early Permian, the north western coastline of the ancient continent
Gondwana, a paleocontinent that would eventually fragment to becorme South America, India, Africa,
Australia, and Antarctica, collided with and joined the southern part of Eurarmerica, a paleo continent made up
of Morth America and southern Europe. With the fusion of the Angaran craton of Siberia to that combined
landmass during the middle of the Early Permian, the assembly of Fangea was complete. Cathavysia, a
landmass comprising the former tectonic plates of North and South China, was not incorporated into Pangea.
Rather, it formed a separate, rmuch smaller, continent within the global ocean Panthalassa. The mechanism for
the breakup of Pangea is now explained in terms of plate tectonics rather than Wegeners outrnoded concept of
continental drift, which simply stated that Earths continents were once joined together into the supercontinent
Pangea that lasted for most of geologic time. Plate tectonics states that Earths outer shell, or lithosphere,
consists of large rigid plates that move apart at oceanic ridges, come together at subduction zones, or slip past
one another along fault lines. The pattern of seafloor spreading indicates that Pangea did not break apart all at
once but rather fragmented in distinct stages. Flate tectonics also postulates that the continents joined with
one another and broke apart several times in Earths geclogic history. The first oceans formed from the
brealup, some 180 million years ago, were the central Atlantic Ocean between north western Africa and North
America and the south western Indian Ocean betweeen Africa and Antarctica. The South Atlantic Ocean opened
about 140 million years ago as Africa separated from South America. About the same time, India separated
from Antarctica and Australia, forming the central Indian Ocean. Finally, about 80 million years ago, North
America separated from Europe, Australia began to rift away from Antarctica, and India broke away from
Madagascar. India eventually collided with Eurasia approximately 50 million years ago, forming the
Hirnalayas. During Earths long history, there probably have been several Pangea like supercontinents. The
oldest of those supercontinents is called Rodinia.
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